SENHWNAK AR 2 =7 4 NZADOFIHEBROHR

[ 1]

1 SHhHUV A
FABEHN)
H28 ZEEE | H29 ZEFE | H30 & E R1 &EE R2 &£
1 2% 42,632 44,967 42211 41,060 32,461
AL £ 2 Rk 35,887 36,955 35,678 35,610 24,958
INA % 3R 32,716 34,718 35,009 34,925 23,787
Bt 111,235 116,640 112,898 111,595 81,206
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FRAEH
H28 FFE | H29 &FE | H3I0 FEE R R R2 &£ [E
HHX 15,144 16,204 16,928 15,285 12,993
FafERith X 10,391 10,630 9,325 7,447 5,320
AR Hh X 12,142 11,603 13,893 15,937 10,683
dza=74
A2 A5 - fiEithX 9,317 10,165 10,652 11,335 8,579
BT - LB Hh X 10,312 10,525 11,513 11,975 10,033
IR X 10,890 11,082 10,716 11,102 8,847
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